			COF	γc
The University of the Stat	e of New York		PROPOSED BUDGE	
THE STATE EDUCATION	DEPARTMENT		FEDERAL OR STATE	
			FS-10 (03/15)	121231 on
		=	Required Field	Carterfle
	Local Agency I	Information		- Hestam
1				- apar
Funding Source:	ARP ESSER			
Report Prepared By:	Donna Runner			
Agency Name:	Mexico Academy and C	Central School	District	
Mailing Address:	16 Fravor Road			
	×7	Street		
	Mexico	NY	13114	
	City	State	Zip Code	
Telephone # of		County:		
Report Preparer: 315-963-	8400	Osv Osv	vego	
E-mail Address: drunner@	mexicocsd.org			
			0/00/0004	
Project Funding Dates:	3/14/2020 Start		9/30/2024 End	
	INSTRUC	TIONS		
<ul> <li>Submit the original FS</li> </ul>	-10 Budget and the requi	ired number of	copies along with the	
completed application	directly to the appropriate ation instructions for the g	e State Educat grant program f	for which you are applyi	ng.
	orm to Grants Finance.			
The Chief Administrat	or's Certification on the B	udget Summar	v worksheet must be si	aned
by the agency's Chief	Administrative Officer or	properly autho	rized designee.	
<ul> <li>An approved copy of f</li> </ul>	the FS-10 Budget will be r	returned to the	contact person noted	
above. A window env	elope will be used; please to the address field with	e make sure th	at the contact information	n is
		out altoring the	1911 ( <b>9</b> 1	
		Out de line e fee	Endaged and State Aide	a l

• For information on budgeting refer to the Fiscal Guidelines for Federal and State Aided Grants at http://www.oms.nysed.gov/cafe/guidance/.

SALARIES FO	OR PROFESSI	ONAL STAFF	
		Subtotal - Code 15	\$1,875,900
Specific Position Title	Full-Time Equivalent	Annualized Rate of Pay	Project Salary
PreK-8 Literacy Coach x 3 years	1.00	\$65,000	\$195,000
PreK-8 Math Coach x 3 years	1.00	\$65,000	\$195,000
Writing Lab Teacher HS x 3 years	1.00	\$65,000	\$195,000
Math Lab Teacher HS x 3 years	1.00	\$65,000	\$195,000
Social Worker x 2 years	1.00	\$65,000	\$130,000
Counselor x 3 years	1.00	\$65,000	\$195,000
Behavior Specialist x 2 years	1.00	\$65,000	\$130,000
Winter Guard Instructor x2 x 120 hours @ \$35 per hour x 3 vears	720.00	\$35	\$25,200
Drumline Instructor x2 x 120 hours @ \$35 per hour x 3 years	720.00	\$35	\$25,200
AIS Teachers for Math and Literacy Elementary and MS x2 x 2 years	2.00	\$65,000	\$260,000
Extended Day Teachers 20 x 100 hours @\$35	20.00	\$4,025	\$80,500
Math Specialist MS x 2 years	1.00	\$65,000	\$130,000
Teaching Assistants 2 x 2 years	2.00	\$30,000	\$120,000

rollien

12/23/2021

		Subtotal - Code 16	\$510,000
Specific Position Title	Full-Time Equivalent	Project Salary	
Teacher Aids/Assistants PreK-2 15 x 2 Jears	15.00	\$17,000.00	\$510,000

	PURCHASED SERV	ICES	
		Subtotal - Code 40	\$142,288
Description of Item	Provider of Services	Calculation of Cost	Proposed Expenditure
Thought Exchange x 3 years (includes 10% discount)	ThoughtExchange	\$22,698.00	\$68,094
Professional Development Drone Certification	SkyOp	\$6,865.00	\$6,865
Data Plans for 100 Hotspots	Verizon	\$36.24	\$3,624
Newsela one year license for four buildings grades K-8	Newsela	\$8,987.00	\$8,987
Acclerated Reader one year license for four buildings for grades K-8	Renaissance Learning	\$12,748.00	\$12,748
iReady diagnostic and skills practice personalized learning licenses for four buildings grades 3-8	Curriculum Associates	\$41,970.00	\$41,970

SUPPL	IES AND MATE	RIALS	
		Subtotal - Code 45	\$225,665
Description of Item	Quantity	Unit Cost	Proposed Expenditure
Musical Instruments for afterschool enrichmetn and opening band in elementary schools.	131.00	\$100-\$500	\$35,000
Thermal Temperature Scanners for buses (Automated Contactless Temperature Measurements)	70.00	\$200.00	\$14,000
COVID POOL Testing Kits from Upstate Hospital, Syracuse	1752.00	\$35.00	\$61,320
Air Purifiers	20.00	\$800.00	\$16,000
Adult 3-ply disposable masks	1500.00	\$6.50	\$9,750
Child 3-ply disposable masks	3000.00	\$15.00	\$45,000
STEM Kits	781.00	\$50.00	\$39,050
Water fountains Elkay non-refrigerated dispenser Item #34K038	3.00	\$1,008.00	\$3,024
Chrome Faucet gooseneck from Grainger	1.00	\$250.00	\$250
Chrome Faucet low arc from Grainger	3.00	\$109.00	\$327
Kitchen Faucet Manual Brass from Grainger	4.00	\$118.00	\$472
Drinking fountain from Grainger	4.00	\$269.00	\$1,076
Faucet connectors, adapters, traps, strainers (fittings) from Watertwon Supply Co.	44.00	\$9.00	\$396

SUPPLI	ES AND MATE	RIALS	
		Subtotal - Code 45	\$225,665
Description of Item	Quantity	Unit Cost	Proposed Expenditure
Musical Instruments for afterschool enrichmetn and opening band in elementary schools.	131.00	\$100-\$500	\$35,000
Thermal Temperature Scanners for buses (Automated Contactless Temperature Measurements)	70.00	\$200.00	\$14,000
COVID POOL Testing Kits from Upstate Hospital, Syracuse	1752.00	\$35.00	\$61,320
Air Purifiers	20.00	\$800.00	\$16,000
Adult 3-ply disposable masks	1500.00	\$6.50	\$9,750
Child 3-ply disposable masks	3000.00	\$15.00	\$45,000
STEM Kits	781.00	\$50.00	\$39,050
Water fountains Elkay non-refrigerated dispenser Item #34K038	3.00	\$1,008.00	\$3,024
Chrome Faucet gooseneck from Grainger	1.00	\$250.00	\$250
Chrome Faucet low arc from Grainger	3.00	\$109.00	\$327
Kitchen Faucet Manual Brass from Grainger	4.00	\$118.00	\$472
Drinking fountain from Grainger	4.00	\$269.00	\$1,076
Faucet connectors, adapters, traps, strainers (fittings) from Watertwon Supply Co.	44.00	\$9.00	\$396

	Employee Benefits	
	Subtotal - Code 80	\$991,504
Benefit		Proposed Expenditure
Social Security		\$182,522
	New York State Teachers	\$183,838
Retirement	New York State Employees	\$76,500
	Other - Pension	
Health Insurance		\$429,349
Worker's Compensation		\$119,295
Unemployment Insurance		
Other(Identify)		

MINOR REMODE	LING		
Subtotal - Code 30 \$600			
Description of Work to be Performed	Calculation of Cost	Proposed Expenditure	
Remodel two classrooms of 600 square feet (minimum required) for ConnextCare to provide Health Care Center (Primary, Dental and Mental) for two Elementary Schools (Palermo and New Haven) includes labor and materialsapproximate cost from ConnextCare Medical Director	\$300,000.00	\$600,000	

SUBTOTAL	CODE	PROJECT COSTS
Professional Salaries	15	\$1,875,900
Support Staff Salaries	16	\$510,000
Purchased Services	40	\$142,288
Supplies and Materials	45	\$225,665
Travel Expenses	46	
Employee Benefits	80	\$991,504
Indirect Cost	90	
BOCES Services	49	
Minor Remodeling	30	\$600,000
Equipment	20	
Gran	d Total	\$4,345,357

## **BUDGET SUMMARY**

Agency Code: 460901
Project #: <b>5880-21</b>
Contract #:
Agency Name: Mexico Academy and Central School District
FOR DEPARTMENT USE ONLY

## CHIEF ADMINISTRATOR'S CERTIFICATION

By signing this report, I certify to the best of my knowledge and belief that the report is true, complete, and accurate, and the expenditures, disbursements, and cash receipts are for the purposes and objectives set forth in the terms and conditions of the Federal (or State) award. I am aware that any false, fictitious, or fraudulent information, or the omission of any material fact, may subject me to criminal, civil, or administrative penalties for fraud, false statements, false claims, or otherwise. (U.S. Code Title 18, Section 1001 and Title 31, Sections 3729-3730 and 3801-3812).

12 23 121 Donno Date Signature

Donna Runner Superintendent Name and Title of Chief Administrative Officer

FOR	DEPARTMENT USE ON	<u>LY</u>
Funding Dates:	From	То
Program Approval:	Date:	
Fiscal Year	First Payment	Line #
X		
	41	
:		
		·
Voucher #	First	Payment

12/23/2021

CF121 ENTRY DATE 01/19 PROJECT 58802 SED CODE 46090 NYC DOC #	9/22 PROJ 12350 A 1060000 M	GRANTS FINANCE ECT STATUS REPORT RP ESSER 3 EXICO CSD	RUN DATE 01/19/22
		DETAIL INFORMATION	02/12/00
PROF SALARY	15 1,875,900.		03/13/20
NON PROF SALARY			09/30/24
PURCH SERVICES	40 142,288.0		
SUPP & MATERIAL			
TRAVEL EXPENSE	46 0.0		
EMP BENEFITS	80 991,504.0		
INDIRECT COST	90 0.0		11.7
BOCES SERVICES	49 0.0		N
REMODELING	30 600,000.		
EQU I PMENT	20 0.0	00	
	BUDGET	SUMMARY INFORMATION	
FUNDYEAR	BUDGET SPLITS	PAID TO DATE	OUTSTANDING ENC
588021	4,345,357.00	434,535.00	
588020	4,345,357.00	434,555.00	
588019	0.00	0.00	
588019	0.00	0.00	
	0.00	0.00	
TOTAL	4,345,357.00	434,535.00	
IOIAL	*,3*3,337.00	434,333.00	5,910,822.00
2 N	LOG AN	D CONTRACT DATES	
RECEI			APPROVED
BUDGET 01/13		CONTRACT	
INTERIM	-,,,		
FINAL			
	(	CASH DETAIL	
ENTRY DOC # 7	TRANS ENC RPT L	INE AMOUNT	FUNDYR MIR PD DT STAT

ENTRY	DOC #	TRANS	ENC	RPT	LINE	AMOUNT	FUNDYR	MIR	PD DT	STAT
011922	560636F	INIT	000	01/22	01	434.535.00	588021 0	11322		ENT

THIS BUDGET HAS BEEN PROCESSED BY THE NEW YORK STATE EDUCATION DEPARTMENT. THIS SUMMARY REPLACES THE SIGNED COPY.